[ Efficiency vs vertpos |

= 0.1 : . .
00 SIS AT S
2 E : : :

>0-08 R ; :

2 . . .
IS U || IS S
2 :

£ 0.0BF--ww-eeisereeeee .

0.05]
0.04
0.03
0.02F
0.0

1 R

T . . 7 m
k) ; :
=
g H 1
02
ertr (cr%)
—— bovm E{:HS'@/H%I-loe
— —— DOM™mKEIt"TTN HEM ALLITER -10?
Efficiend —— DOM-mKEIt—TTNEWHIM350 ALLTTERS-106
—— DOQM™mKFIt"TTNEWHSMS100 ALLITERS-106
N 0.
£
Q0.0 ---rwrrrermrer et
2]
> 008 ------------------------------------------------
>
20.07
90-0 --------------------
=]
£ 0.06F----frcffrr il e
(]
0.05f -} fff-ideememeriemeeeeien g e

0.04
0.03
0.02

0.02E gearfeffd' -3 "o bl
o O 1l [ M
B 12
o

[y

0.8
-30

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045
IS
7 0.04
$.035
z
c0.03
@
8.025
(0]
0.02
0.015
0.01
0.005

104

Ratio
N

0.9F-----+--}-fif

0.8*

Sim. PV z (cm)



	Contents
	Page 1


